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Pensieve header: The $k=3$ building micro-blocks and gradings to cancel hand y.

Warning. To test degree rules, use versions of SL2Invariant.m from before July 5, 2018, and unset
h=y=1.
n-1= SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects/SL2Invariant"];
<< SL2Invariant.m
Block[{$k = 3}, quarks = {
am - amj 4.k, bm - bmi,j_,k, R - Rj,j5 P> Pjij, aS - aS;, CC - CC;, b2t - b2t;, t2b - t2b;
}1 // Column

This is Profile.m of http://www.drorbn.net/AcademicPensieve/Projects/Profile/.
This version: June 2018. Original version: July 1994.
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inf-}= Print [degrule = Thread[{a, b, a, B, £, n, X, ¥, A, ¥, €, t, ¢, T, B, A} >
1,1, -1, -1, -1, -1,1,1, -2,1,1, 2, -2, 0,0, 0}]];
quarks /. E[L_, Q_, P_]=» (E[L, 0, P] = (E[L, O, NormaleP] /.
{V_i_ N Sv/.degr‘ule Vi, (V . A | € | Y) N sv/.degr‘ule V}))
{a-»1,b->1,0->-1, 3->-1, {E--1,n>-1, x->1,
y-1, h--2,y->1,e->1,t->2,t->-2,T-0,B-50, A->0}

outf-}= {am - True, bm - True, R - True, P - True, aS — True, CC - True, b2t —» True, t2b — True}
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Inf[«]:=

Out[«]=

Inf]:=

Outf«]=

Print [degrule = Thread[{a, b, a, B, §, n, X, ¥, A, ¥, e, t, ¢, T, B, A} »
{,1,0, -1,0, -1,0,1, -1,0,1,1, -1, 0, 0, 0}]1];
quarks /. E[L_, Q_, P_] = (E[L, 0, P] = (E[L, O, NormaleP] /.
{V—i, N Sv/.degr-ule Vi, (V . A | € | 7) N Sv/.degr'ule V}))

{a-»0,b->1, 0-0, 3>-1, £-0,n->-1, x>0,
y->1, h->-1, y-»0,e->1, t->1, t->-1, T->0, B->0, A->0}

{am - True, bm - True, R - True, P - True, aS - True, CC - True, b2t » True, t2b - True}

Print [degrule = Thread[{a, b, a, B, €&, n, X, ¥, A, ¥, €, t, T, T, B, A} »
{1, e, -1, 0, -1,0,1, 0, -1,1,0, 1, -1, 0, 0, 0}]];
quarks /. E[L_, Q_, P_]1 = (E[L, Q, P] = (E[L, Q, NormalePr] /.
{V_i_ N sv/.degr‘ule Vi, (V:h | e I ¥) > sv/.degr‘ule V}))
{a-»1,b-0,a--1, 350, £->-1,n->0, x->1,
y->0, h->-1, y-»>1,e-0, t->1, t>-1,T-0,B->0, A->0}

{am - True, bm - True, R - True, P - True, aS - True, CC - True, b2t » True, t2b - True}
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